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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Come up with 2 management challenges faced by service operation companies due to the “perishability” characteristic of a service? (2 Points)
Some management challenges faced by service operation companies due to the “perishability” characteristic of service are as follows:

· Opportunity loss of idle capacity

· Matching demand with supply

2. Contrast “Explicit” and “Implicit” services components of the service package. Provide one example for each one of those very components. (2 Points)
While explicit services are benefits readily observable by the senses, implicit services are psychological benefits or extrinsic features which the customers may sense only vaguely. Examples of explicit services can be:

· Quality of the meal

· Attitude of the waiter

· On-time departure

Examples of implicit services can be:

· Privacy of loan office

· Security of a well-lightened parking lot

3. Come up with any reason why service firms are competing in a difficult economic environment. Could you briefly explain this very reason? (2 Points)
Service firms are competing in a difficult economic environment because of the following reasons:

· Relatively low overall entry barriers: Service innovations are not patentable, and in most cases, services are not capital-intensive. Thus, innovation can easily be copied by competitors.

· Minimal opportunities for economies of scale: The necessity of physical travel for many services limits the market area and results in small-scale outlets.
· Erratic sales fluctuations: service demand varies as a function of the time of day and the day of the week (and sometimes seasonally), with random arrivals.
· No advantage of size when dealing with buyers or suppliers: The small size of many service firms places them at a disadvantage when bargaining with powerful buyers or suppliers.

· Product substitution: Product innovations can be a substitute for services. (ex. The home pregnancy test).

· Customer loyalty: Established firms using personalized service create a loyal customer base, which becomes a barrier to entry by new services.

· Exit barriers: Marginal service firms may continue to operate despite low, or even non-existent, profits. Thus, profit-motivated competitors would find it difficult to drive these privately held firms from the market.

4. Contrast “Push theory” and “Pull theory” of innovations. Provide one example for each one of those very theories. (2 Points)
While “push theory” entitles that innovation is driven by technology and engineering, “pull theory” entitles that innovation is driven by customers input and feedback. An example for push theory is “Post-it” by 3M Company. An example of pull theory is a hotel instituting an airport shuttle service because a concierge noticed a high demand for taxi service.
5. Come up with any 2 success factors needed when a customer (human) being served with service provider (human)? (2 Points)
Success factors needed when a customer (human) is served by a service provider (human) are as follows:

· Careful employee selection

· Employees interpersonal skills

· Easy access

· Agreeable environment

· Good supporting technology

· Employees trust perceived by customers

6. What is the maximum percentage of observations, falling below the LCL and above the UCL, which is still acceptable for quality? (2 Points)

From standard normal tables, 99.70 % of the normal distribution shall fall within 3 standard deviations of the mean. Therefore, only 0.30 % of the observations have the chance to fall above the UCL and below the LCL. To illustrate, for 1,000 observations, only 3 of them shall be out of the [LCL , UCL] boundaries.
Good Luck

PAGE  
2

